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GEOGRAPHY HSSC-II
SECTION — A (Marks 17)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)
(i)
(ii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

(i)
(xii)
(xiii)
(xiv)
(xv)
{xvi)

{xvii)

®
@
®
@
®
]
®
o
[
®
o
@
®
L
®
@
@ x)
-
®
o
®
®
®
®
®
e
®
®
®
®
®
®
Aa

The percentage labour force employed by agriculture in Pakistan is:

A 50 B. 70 C. 30 D. 20
Equator divides which continent into two halves?

A. Asia B. Africa C. Europe D. South America
Which ocean does not touch the Asian coasts?

A Atlantic Ocean B. Indian Ocean C. Pacific Ocean D. Arabian Sea
Selvas are:

A Equatorial forests B. Tropical Grasslands

C. Monsoon forests D. Taiga forests

What percentage of total population of the world fives in Asia?

A 90 B. 60 C. 20 D. 30
Population growth rate is the lowest in:

A North America B. Africa C. Europe D. South America
Three Gorges Dam will accelerate agricultural activities in:

A India B. Saudi Arabia C. China D. USA
Which set of rivers originates from the Tibet Plateau?

A Indus and Brahama Putra B. Indus, Brahama Putra and Ural
C. Indus, Mekong and Brahama Putra D. Indus and Mekong

Annual population growth rate in Saudi Arabia is:

A 2.00% B. 1.60% - - C. 2.50% D. 3.40%
In the USA, Tropical Cyclones have greatest impact on the coastal areas situated in:

A South and South east B. North and North east

C. North D. West

In the USA, huge reserves of coal are present in:

A Rockies B. Appalachians

C. Great Lakes D. Southern coastal areas

Which set of countries is the largest buyer of Pakistani goods?

A Japan, USA, UK B. China, USA, Sri Lanka

C. Japan, USA, Nepal D. UK, France, Turkey

The density of population in China is 120 persons per square kms which is:

A Less than Pakistan B. More than Pakistan

C. Equal to Pakistan D. Very high than Pakistan
Which type of new migration trend is emerging in the urban centres of the world?

A Rural-urban migration B. Urban-urban migration

C. Rural-rural migration D. Urban-rural migration
Mediterranean type of climate is found in South America in:

A Central Chile B. Patagonian highlands

C. Amazon Basin D. Eastern Highlands

Great Lakes in North America were formed due to:

A. Glacial erosion B. Melting of snow and ice

C. Draining of rivers D. Formation of rift valiey

The longest river in Europe is:

A. Don B. Danube C. Rohne D. Volga

For Examiner’s use only:

Total Marks: 17
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Time allbwed: 2:35 Hours

>
GEOGRAPHY HSSC-lI

Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the

separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

Q.2

Note:
Q3
Q.4

Q.5

SECTION — B (Marks 42)
Answer any FOURTEEN parts. The answer to each part should not exceed 3 to 4 lines. (14x3=42)

(i) What measures have been taken by the Saudi Government to modernize agriculture in
Saudi Arabia?
(ii) Write three major characteristics of Amazon River basin.

(iii) Why are European rivers important for the economic development of European continent?
(iv) Give names of three Fold Mountain Ranges of Africa along with their locations.

v) Write three lines about the Western Asian desert climatic region. )

(vi) How do Chinook winds have positive impact on the Eastern slopes of the Rockies?
(vii) Identify highly densely populated areas in South America.

(vii)  Which central plain is the most important for agricultural activities in Australia?

(ix) Why does 80% of Australian population live in Urban areas?

(x) What do you know about the natural vegetation of Antarctica?

(xi) Write three lines about the coastal areas of Pakistan.

(xii) What are the reasons for a steep growth of cement making industry in Pakistan?
(xiii)  What is the importance of Silk Route for China?

(xiv) Name three important coal mining areas in China.

(xv)  What do you know about the Western Great Lakes Industrial Region in the USA?
(xvi)  Write down important imports of the USA.

(xvii)  What do you know about the population growth in Africa?

(xviii)  Write a few lines about the Rural-Urban migration trends in Pakistan.

(xix) Show Red Sea, Persian Guif and Bay of Bengal on the map given below:

SECTION — C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2x 13 =26)
What are the major environmental problems in the Urban areas of Pakistan? 13
How do Cotton and Maize Belts play an important role in agricultural activities of the USA?

Show also their location on the map of the USA. 11+2
Describe the power resources and mineral wealth of China. 13
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